GENETICS PROBLEMS

1.  The gene for redness is dominant to the gene for whiteness.  If a true breeding plant with red flowers is crossed with a true breeding plant with white flowers, their offspring will be ________________.
A.  red homozygotes      

B.   white homozygotes      

C.  red heterozygotes    

D.   white heterozygotes


2.  Tallness is dominant to dwarfness in pea plants. Which one of the following alternatives describes the offspring produced by two heterozygous pea plants?

A.  75% tall and 25% dwarf plants

B.  50% tall and 50% dwarf plants

C.  All tall plants 

D.  All dwarf plants   

3.  Crossing white-flowered plants with red-flowered plants results in production of pink-flowered plants.  Which one of the following describes the genes that determine flower color in these plants?

A. Dominant     B.   Recessive      C.   Codominant      D.   Incompletely dominant  

4. Human beings with genes A and B have blood type AB.  Which one of the following describes the genes that cause individuals to have blood type AB?

      A.  Codominant       B.   Epistatic      C.   Incompletely dominant      D.  Pleiotropic  

5.  If a heterozygous woman with normal vision mates with a normal man, what is the probability that each of their sons will be colorblind?

A.   0%      B.   50%      C.   100%      D.   25%

6. What proportion of the offspring of two heterozygous flies with long wings will have

short wings?

      A.   1/4      B.   2/4      C.   3/4      D.   4/4

7. What is the probability that a child produced by two heterozygous individuals with

group A blood will also have group A blood? 

A.  0%      B.   25%      C.   75%      D.   100%

8.   Which one of the following is true of a hemophilic woman?

      A.  Her mother must have hemophilia.
      B.  Her father must have hemophilia.
      C.  Her father is normal and her mother has hemophilia.
      D.  Her father has hemophilia and her mother is homozygous and normal.

